ESGT—%

5% 1 2025%6H

(GRIR) 18R ==Yy} 1] 20215%E 2022%F%E 2023FE
CO28EHE (Scopel+2) t-CO2 B 289,314 294,993 264,208
Scopel t-CO2 B 83,990 84,203 88,705
Scope2 t-CO2 BB 205,324 210,790 175,503
CO¥fHE (Scope3) t-CO2 EfE - - 825,348
HFIU-1 BAURRSR-9-EZ t-CO2 i - - 613,159
HFdU-2  &EAREE t-CO2 B - - 85,948
Hh7FIU—4  EX, X (ER) t-CO2 B - - X1
h7dU-5 SBHEHNSHIEZEY) t-CO2 pEH - - 21,400
h7dU-6 HER t-CO2 B - - 1,684
Hh7dV-7 REREOEDH t-CO2 pE T - - 2,997
h7dU-8 V-ZXE&EE (L) t-CO2 pEh - - -
Hh7dU—-9 #X. fox (i) t-CO2 EHE . . .
H73U—-10 BRFSLEEZONT t-CO2 B - - -
HFIU-11 BRFSURRROEA t-CO2 i - - 2,175
H7dU—-12 BRFEUEMDBEE t-CO2 S - - -
HFIU-13 U-REE (TH) t-CO2 B - - 47,593
h7IV—-14 J32Fv(4X t-CO2 pEH - - -
HFIU-15 1&& t-CO2 B - - -
COHFH EBFREEAT 2 t-CO2/E A M i 0.96 0.85 0.65
IRIVE—RIEIE ESEAS Fkwh B 443,865 445,386 431,449
—A&XEE S Fkwh B 443,761 445,297 431,358
BAARINF-BHRE - FAZ FkWh pEh 104 89 91
BATREIRILE-TER Fkwh B 3,593 3,245 3,822
BEEEY 3 —RRBEEEY) t L - - 10,734
FEERZE t pEh T - - 39,848
K*3 Bk Fm i - - 2,314
K Fm pEH - - 1,876
HF-HTFoK Fm S - - 436
rR7K Fm pEH - - 2
BEK Fm pEh - - 2,074
ZOMOHEL) NOxHEH 2 kg B 66,727 63,591 56,829
PMHFHE kg B 1,582 1,455 1,188
JoYimEe t-CO2 B 4,058 2,366 3,843
JU=2ENT 4 FREES 2R EA{K - - 3
HMFOTEZU T OBNTH>THENES. (20244108)
(ETIEERR] : ©20224%FE COFH= Scopel (GEfE) @2022FE CO:8Ft= (GERE)
[(TERZ] : @ (38) 83Ft-CO2 (IF) 84,203t-CO2 @ (38) 294,226t-CO2 (IE) 294,993t-CO:
X1 H73V4(FH7IV1-2[CED
%2 COBFHEFREAI=COH=E (Scopel+2) /B
%3 MR (FEHE)OH/N -2 : 87.5%
(i12) BiR =<1 v] 17153 20215E 20224FE 20234FE
TEEHE BERXEESLENFEESFER % e 0 0 0
bEHREBEERE HBEmEE TeENFHmNEIS % g 90.9 88.9 89.6
HBEBECHIIIZLEERERE =l 7S] 125 155 175
(5= =l 7S C] 73 72 81
4237 MEER s ha 0 0 0
PREESR S UL s R 2 7 2
EnXPEE R s 5] 26 42 38
TREEM AU EM(EINTERTNE CHFPRE M ZBR< [i0] S C] 873 877 871
FHEETREE FEKEEFEEHER s EA{K 24 23 27
EFNE s E4{K 14 20 25
BENE s EA{K 10 3 2
TR K EHE s BH{K 0 0 0
RELEEEER - BA(K 0.78 1.11 1.62
nEI=| N=FILIH =AU~ - EA{K - 3.50 3.44
i a O L ke e b - (AR - 3.46 3.47
EEEE A EH{K 2,449 2,410 2,434
Sk A A 2,218 2,186 2,206
pegics A A 231 224 228
PIEEE U EHDLELESR % EH{K 9.4 9.3 9.4
2R - ANEFAEE A BA{K 50 73 155
B A EH{K 39 62 138
pegis A EH{K 11 11 17
R ERALER (RS % E4{K 33.3 33.3 36.8
HE AR A EH{K 4 54 107
pogica A EH{K 1 6 8
IR A B 297 297 299
St A K 274 274 270
pegis A B 23 23 29
EIRRE I SDHD TR % EH{K 7.7 7.7 9.7
BB RAHSER £ A EH{K 72 65 75
S5 A BA{K 5 5 6
FRAESRE £ A EH{K 225 232 224
S5 A =517 18 18 23
EEERBREAEN A B 240 245 205
FENVERRAR % X4 2.61 2.74 2.95
FENVEER A A X4 183.0 190.5 199.5
IS EN R F [==17.N 17.8 17.9 17.8
St =3 A 18.5 18.5 18.3
peqcs & A 11.1 12.0 12.0
FAIFHR S % =278 41.9 42.3 42.1
pogica % EH{K 34.8 36.1 36.3
TIERES Vol (K 649 710 729
B TR R R R B ] A 20.6 25.0 27.1
AR % AR 2.3 2.7 3.0
1 ERtIE R A EH{K 65 74 80
pogica A EH{K 20 16 14
BUEEER % E4{K - 67.5 67.5
IERRERS®E % EH{K - 79.0 79.6
N—h~-BHESEE % EH{K - 61.3 55.4




ESGT—%

5% 1 2025%6H

(=) B Hi{y S0 20214 20224FFE 20234

ES =] FIXBEHRAIRESEER H 217N 16.2 16.4 16.6
FIXERARIREEER % K 85.6 86.3 88.4
BIRAEESEER A L2178 32 43 98
St A 2217 14 32 85

g A Bk 18 11 13

BIRAREEUER % 217 38.1 48.3 111.4
St % BH{K 20.9 41.0 114.9

Loy % Bk 105.9 100.0 92.9

BIRAEFIEISHE St H E217N 36.9 110.8 66.5
B IRARESIEER % K 100 100 100
TTEEMREETHE S EER A L2178 1 7 7
St A EH{K 1 5 3

ogis A Bk 0 2 4

ZE-TOCBEIHEE - FIER s ] 217N - 34.8 36.3
T EHIERIR(CHELEPIAB OB RIHME By sl Bk - 19.3 19.4
TEHARRZMIZ 2R % 217N 100 100 100
ARV AF Ty E MR % E217N 94.4 93.3 92.5
BIRICELDMEDRNEEL H B 4,166 8,509 6,475
AWV AR L BDREDNBER = EH{R 1,101 1,740 930

AVHNARNRICELSMEFEDES (EREECEHDDEIS) % Bk 0.7 1.4 1.2
AR % Bk 38.9 38.1 39.4
DRYESR % 22178 24.8 25.6 24.3
EFRIEER % 2217 22.9 17.8 22.9
FSEHESCPIELTVWSHEDEIS % 217N 91.2 91.1 91.2
ZOA BFIRESET BAH EH{K 21 26 51

X4 KEPIEREZR I N —T2E0EE

(BINFVR) BT 20215E 20224EE 20234E

BRies TR A Bi{K 15 15 15
AN A =217 10 10 10

Bt A BA{K 10 10 10

4 A ==17N 0 0 0

4t A =217 5 5 5

Bt A ==F7N 4 4 4

7% A Bi{K 1 1 1

B DI il 7% BA{K 64.5 63.4 61.6

B ~FafEDIEY @] Bi{K 11 12 11

FHAMERTASE LR SR % =217 33.3 33.3 33.3

AN EEER % ==F7N 6.7 6.7 6.7

B e =B R % BA{K 100.0 97.1 99.4

AR B R % =217 100.0 91.7 98.0

EBRERES A BA{K 4 4 4

Fan% A Bi{K 1 1 1

4t A ==F7N 3 3 3

Fa T = I % BA{K 75 75 75

ey % =217 25 25 25

AR ERSEEEHER % BA{K 100.0 88.9 100.0

EAREERERMELDIE ] =217.N 16 15 15

HITIRE BUITIZ B (EFSFRIZE 2 R<) A Bi{K 6 7 7
Bt A BA{K 6 6 6

ey A BA{K 0 1 1

THEMITIRB SR % BA{K 0.0 14.3 14.3

5% MEER 154 - RINEERTE A BA{K 4 4 4
ANy A =217 2 2 2

4t A BA{K 2 2 2

154 - IRBNE B = REDIEL [ ==17N 2 2 4

5% RINEERHFEER % =17 100 100 100

HRAM e (BEAEEE TH AR OB LUHIMNEFRZFRC) EhalE BA{K 305 298 348
EREEE (HNEREEZREZRO =l ==1% 35 35 36

AR BHM ==17N 71 71 70

SETEEBR ANADIREM EERERE BAM i 125 135 140

JEEEAEBE =AM i - 3 -

PEARES-AIE AIEREERTEL fas pEb T 110 129 140
AV TFA T ANRDIHESZEER % =<1V - 95.4 96.9

BRNEDERDREMHE 4 e 0 0 0




